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Chapter One

Part |

Section A Conversations

Directions: In this section, you will hear 10 short conversations. At the end of each
conversation, you will be asked a question about what was said. The conversation and
questions will be spoken only once. After each question there will be a pause. During the
pause, you must read the four suggested answers marked A, B, C, D, and decide which is

the best answer, Then mark the corresponding letter on the Answer Sheet with a single

line through the centre.

Now you will hear an example;

M. How is Mary feeling today?

W . She’s still running a fever.

Q: What does the woman say about Mary?

You will read: A. She's still running.

B. She’s all right.

C. She’s still suffering.

D. She’s very uncomfortable.

Sample Answer

(A] [B] [€] [D]

From the conversation, We know that Mary is sick and still running a fever. So

C “She’s is still suffering.’

i

Listening Comprehension

Test 1

Objective Parts

is the best answer. Therefore, you should choose C on the

Answer Sheet and mark it with a single line through the centre,

1. A,
C.
2. A
C.
3. A,
C.
4. A.

Six hundred dollars.

Two hundred dollars.

Tuesday.

Next Tuesday.

She is not qualified for the job.

She just could not get a chance.

The winner is proud of herself,

B.

SEowEU

Four hundred dollars,

One hundred dollars.

Thursday.

Next Thursday.

She might be competent to the job.

She is unable to be promoted.



B.
C.
D.
5. A,
C.
6. A.
C
7. A
C
8.
C
9. A.
C.
10. A,

The winner is pleased with his achievement.

The winner is complained about by losers.

The winner is nothing but a swimmer,
The house was too small.
The house was neither big nor small.

To catch a train.

. To drive someone to a station.
. More people would be unemployed.

. More automation would be used.

A. In a hospital.

C.

°. On board a ship.

His job is rather boring.
His job is worth doing.
Bob.

Bobby.

Section B Passages

PFLODPORFORIOREDOW

The house was big enough.
The house was for the married.
To attend a meeting.

To take a trip in New York.
More jobs would be offered.
More problems would 'be caused.
In a restaurant.

At a dinner party.

His job is very interesting.

His job is heavy indeed.

Betty.

Beck.

Directions: In this section, you will hear 3 short passages. At the end of each passage, you

will hear some questions. Both the passage and the questions will be spoken only once.

After you hear one question, you must choose the best answer from the four choices

marked A, B, C, D. Then mark the corresponding letter on the Answer Sheet with a

single line through the centre,

Passage 1

Questions 11 to 13 are based on the passage you have just heard.

11.

12.

13.

A. Cleaning the windshield. B.
C. Filling the oil up. D.
A. If you have no money. B.
C. If the car is badly burned. D.
A. 20. B.
C. 8. D.

Passage 2

Checking the tires out.

Asking for the help.

If the car runs for a long distance.
If you enjoy no regular service.
10.

4.

Questions 14 to 17 are based on the passage you have just heard.

14.

15.

16.

A. Different problems of learning English. B.
C. Many differences of learning English. D.
A. 100. B
C. 50. D.
A. Listening. B

Reading skills of learning English.

Four ways of learning English.

. 70.

25.

. Reading.



C. Speaking. D. Writing.
17. A. Problems in them can be changeable,

B. Problems in them vary from person to person.

C. Problems in them are hard to solve.

D. Problems in them can be come up with.

Passage 3

Questions 18 to 20 are based on the passage you have just heard.

18. A. From the private sector of business.

B. From a federal committee on Foreign Investment.
C. From the close investigation of government agencies,
D. From home or foreign parent companies.
19. A. Transportation, B. Public service.
C. Foreign investment. D. Foreign companies.
20. A. U.S. economic strength is based on the private sector of business.
B. U.S. Department of Commerce exerts too much impact on foreign investment.

C. Government paperwork adds many protections on the private sector of business.

&

Government agencies restrict the activities of foreign investors in U. S, A.

Part  Reading Comprehension

Directions: There are 4 passages in this part. Each passage is followed by some questions
or unfinished statements. For each of them there are four choices marked A, B, C , D,
you should decide on the best choice and mark the corresponding letter on the Answer

Sheet with a single line through the centre.

Questions 21 to 25 are based on the following passage.

A firm may select from two basic pricing strategies for new products: skimming and
penetration. Skimming uses a relatively high initial price, followed by subsequent price
reductions to tap successively more price elastic market segments. Penetration uses a
relatively low introductory price to create and maintain mass market appeal.

A skimming price strategy is particular well suited to the introduction of revolutionary
products, those products that are dramatically different and create entirely new markets,
such as electric cars and personal computers. Under such circumstances, demand is
usually fairly inelastic with respect to price, simply because consumers have no meaningful
idea as to what such a product is worth. A substantial change in consumer behavior is
required, so market resistance is high, and only a very limited number of people are
willing to assume the risk involved in an untried product. This affluent group can well
afford the product and may actually be attracted by a high price because of its implied
exclusivity. Because the new product does not yet have real rivals, its vulnerability to

competitive prices is low., As the product becomes better known and more widely
e 3 .



accepted, competition appears on the scene and consumer responsiveness to price
incentives increases significantly.

In light of the uncertainties associated with the launching of a new product in the
marketplace, skimming is the safer pricing strategy. The idea behind setting introductory
prices high is to recover the cost of development and introduction before the competitors
enter and initiate competition based on cost. It is always easier to reduce a price that is too
high (to generate sufficient volume) than to increase a price that is too low (to provide a
satisfactory profit). A company can afford to use skimming if it is likely to be the sole
supplier of a new product for some time into the future. This may be due to advanced
technology, a patent or license, or simply a wait-and-see attitude on the part of potential
competitors,

21. The difference between Skimming and penetration price strategies lies in that the

former
A. is an expensive pricing strategy B. is a successful marketing strategy
C. is a way to promote products D. is a strategy to reduce price

22. A skimming price strategy is commonly used in putting a new market because it is

.

A. more economical B. more ideal
C. more costly D. more initiate
23. From the passage we know consumers will have a strong to the new
product.
A. demand B. desire
C. resistence D. response

24. Competition will be getting more and more severe as the products are
A. much cheaper B. widely accepted
C. of high quality D. known to all
25. What will the passage continue to talk about?
A. How to reduce prices B. Ways of dealing with consumers

C. Advantages over potential competitors D. Penetration Price Strategy

Questions 26 to 30 are based on the following passage.

Smith considered himself to have been very fortunate in life. From his father he had
inherited, at the age of seventeen, an easy-going disposition ({41%), five hundred pounds
in cash from a life insurance policy, and a good mathematical brain. The first legacy had
enabled him to endure without resentment (4&{R) the supervision of a reluctant and ill-
tempered guardian (f£37 A); the second had enabled him to use the scholarship he had
won to a university; the third resulted in his gaining a science doctorate in his middle
twenties. By the time he was thirty he was in the employ of a large engineering concern
and running one of the experimental departments, a little surprised that he should be
financially so well rewarded for pursuing his personal interests,

o 4 e



At the age of thirty-two he had made his first trip abroad. It had been a success. To
their delight, his employers discovered that, in addition to technical ability which earned
the respect of all those whom he dealt with, he had the faculty of making himself popular,
which was rare in a man of his particular qualifications. And so, in the years that
followed, occasional trips abroad had become part of his working life. The excitement he
felt on arriving in strange cities never dulled. He enjoyed meeting men of other
nationalities and learning some knowledge of their languages, especially the former, It did
not take him long to appreciate that all men were individuals and that none could truly be
called “typical” of his nation.

26. Smith’s father was

A. very wealthy B. an ill-tempered person

C. mathematically gifted D. a reluctant guardian
27. Smith’s attitude to his guardian could be described as

A. reluctant B. grateful

C. resentful D. tolerant
28. From this passage we can know that Smith was

A. the employer of a large engineering concern

B. a well-qualified manager of a company

C. the leader of an experimental department

D. a financially rich businessman
29. Which did Smith enjoy most?

A. Learning some knowledge of foreign languages.

B. Meeting men of other nationalities.

C. Finding men typical of their nations.

D. Appreciating that all men were individuals.

30. It is suggested in the passage that men of Smith’s qualifications
A. earned respect easily B. were always successful in their careers

C. travelled abroad quite often D. were not usually popular socially

Questions 31 to 35 are based on the following passage.

The concept of “environment” is certainly difficult and may even be misunderstood;
but we have no handy substitute. It seems simple enough to distinguish between the
organism and surrounding environment and to separate forces acting on an organism into
those that are internal and biological and those that are external and environmental. But in
actual practice this system breaks down in many ways, because the organism and
environment are constantly interacting so that the environment is modified by the organism
and vice versa,

In the case of man, the difficulties with the environmental concept are even more
complicated because we have to deal with man as an animal and with man as a bearer of

culture. If we look at man as an animal and try to analyze the environmental forces that are
e 5



acting on the organism, we find that we have to deal with things like climate, soil, plants,
and such-like factors common to all biological situations; but we also find, always, very
important environmental influences that we can only class as “culture”, which modify the
physical and biological factors. But man, as we know him, is always a bearer of culture,
and if we study human culture, we find that it, in turn, is modified by the environmental
factors of climate and geography. We thus easily get into difficulties from the necessity of
viewing culture, at one moment, as a part of the man and, at another moment, as a part of
the environment.
31. Which of the following words. can best describe the popular understanding of

“environment” as the author sees it?

A. Elaborate. B. Oversimplified.

C. Faultless. D. Prejudiced.

32. According to the author the concept of “environment” is difficult to explain because

A. the organism and the environment influence each other
B. in involves both internal and external forces
C. it doesn’t distinguish between the organism and the environment
D. the relationship between the organism and the environment is unclear
33. In analysing the environmental forces acting on man the author suggests that
A. biological factors are less important to the organism than cultural factors to man
B. man and other animals are modified equally by the environmental forces
C. man is modified by the cultural environment as well as by the natural environment
D. physical and biological factors exert more influences on other organisms than on
man
34. As for culture, the author points out that .
A. it develops side by side with environmental factors
B. it is generally accepted to be part of the environment
C. it is also affected by environmental factors
D. it is a product of man’s biological instincts
35. In this passage, the author is primarily concerned with .
A. the evaluation of man’s influence on culture
B. the discussion on organism and biological environment
C. the comparison between internal and external factors influencing man

D. the interpretation of the term “environment”

Questions 36 to 40 are based on the following passage.

Criticism of research lays a significant foundation for future investigative work, but
when students begin their own projects, they are likely to find that the standards of
validity in field work are considerably more rigorous than the standards for most library
research. When students are faced with the concrete problem of proof by field

6 o



demonstration, they usually discover that many of the “important relationships” they may
have criticized other rsearchers for failing to demonstrate are very elusive (M LLIEHH)
indeed. They will find, if they submit an outline or questionnaire to their classmates for
criticism, that other students make comments similar to some they themselves may have
made in discussing previously published research. For example, student researchers are
likely to begin with a general question but find themselves forced to narrow its focus.
They may learn that questions whose meanings seem perfectly obvious to them are not
clearly understood by others, or that questions-which seemed entirely objective to them
appear to be highly subjective to someone else. They usually find that the formulation of
good research questions is much more subtle and difficult task than is generally believed by
those who have not actually attempted it.
36. What does the author think about the criticism of other people’s research?

A. Tt should only be attempted by experienced researches.

B. It may cause researchers to avoid publishing good work.

C. It is currently being done to excess.

D. It can be useful in planning future research,
37. What is one major criticism students often make of published research?

A. The research has not been written in an interesting way.

B. The research has been done in unimportant fields.

C. The researchers did not adequately establish the relationships involved.

D. The researchers failed to provide an appropriate summary.
38. How do students in class often react to another student’s research?

A. They react the way they do to any other research,

B. They are especially critical of the quality of the research.

C. They offer unusually good suggestions for improving the work.

D. They show a lot of sympathy for the student researcher.
39. What do student researchers often learn when they discuss their work in class?

A. Other students rarely have objective comments about it.

B. Other students do not believe the researchers did the work themselves.

C. Some students feel that the conclusions are too obvious,

D. Some students do not understand the meaning of the researchers’ questions.
40. According to the passage, student researchers may have to change their research

projects because .

A. their budgets are too high

B. their original questions are too broad

C. their teachers do not give adequate advice

D. their time is very limited



Part [ Vocabulary and Structure

Directions: There are 30 incomplete sentences in this part. For each sentence there are

four choices marked A, B, C, D. Choose the ONE answer that best completes the

sentence. Then mark the corresponding letter on the Answer Sheet with a single line

through the centre.

41,

42,

43,

44.

45.

46.

47.

48.

49,

It really took him several months to do this experiment, but so far it has made little

A. distinet B. outcome

C. consequence D. difference

1t’s believed that the graduates will take a interest in development work in
the West.

A. sharp B. keen

C. considerable D. weighty

It will be best if you can make a careful of any mistakes you make more than
once.,

A. consideration B. notice

C. preparation D. note

Has there been any on the proposal from the board of directors.

A. reaction B. criticism

C. comment D. controversy

As more oil and coal is burned each year, the world’s stocks are being

exhausted.

A. steadily B. promptly

C. readily D. simultaneously

If you want children to work hard you must their interests instead of their

sense of duty.

A. stand up to B. give way to

C. appeal to D. give rise to

Proficiency in a foreign language is considered to be acquired through actual use

achieved through teaching and learning.

A. rather than B. more than
C. other than D. less than
1 would like to express our to the host for their kindness in inviting us to

attend such a wonderful party.

A. gratitude B. gradient
C. fraction D. fragment
Never blindly at the blank and the one word before or after it. Always look

at the whole idea.
] o



50.

51.

52.

53.

54.

55.

56.

57.

58.

59.

A, glace B. stare

C. outlook D. glimpse

Well, have you any suggestions as to what T should say in the

A. condition B. environments

C. occasion D. circumstances

We were all made for the host apologized many times to the guests for the

oversight,

A. ashamed B. nervous

C. embarrassed D. anxious

It’s said that the case against him has been for the lack of sufficient

evidence,

A. dismissed B. discarded

C. discharged D. disapproved

When such a symptoms occur, have the camera recorder by qualified service

personnel,

A. repaired B. examined

C. tested D. checked

The air-conditioner factory guaranteed that all defective parts could be replaced

without

A. money B. charge

C. fee D. fund

The dependence of our knowledge on the skill of our hands has been true since the
of science,

A, outset B. start

C. down D. openning

It’s obviously to review your lessons earnestly before the achievement test.

A. incredible B. credible

C. sensible D. sensitive

The energy radiated into space by a star is generated by the of hydrogen to

helium. '

A. transformation B. conversion

C. transmission D. transition

In 1911 Sir Ernest Rutherfold took two of the decisive experiment that the

foundation of nuclear physics.

A. founded B. found

C. laid D. lain

There is no point of the experiment unless you want to give it up.

A. in complaining B. to complain

C. to complaining D. at complaining

e 9 .



60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

He several students at random from the class to help him with the

experiment,

A. selected B. elected

C. chose D. picked

More and more fire fighters were assigned to the raging forest fire.

A. put off B. put out

C. put away D. put down

The doctor once warned him that should he take on overwork any more.

A. at no time B. in no way

C. on no account D. under no circumstance

Robin was not in the environment outside the hospital where she spent so

much of her time.
A. at heart B. at large
C. at ease D. at home

If one link in a chain is broken, the chain will not function

A. accurately B. properly

C. reliably D. promptly

Remember to the battery pack from the camera recorder to extend its operate
life.

A. replace B. remove

C. recharge D. refresh

Strangely enough, some personnel’s still think that man is to woman in not

only strength but in competence.
A. superior B. inferior
C. favourite D. unfavourable

They are still reluctant to inform them of the method by which each person was

A. conveyed B. conducted

C. confirmed D. contacted

The retailer must always be of‘opportunities for improving operating
efficiency.

A. characteristic B. approved

C. aware D. conscious

The large general mechanized store a transformation to a series of specialty store.
A. underwent B. undermined

C. witnessed D. withstand

Without sunlight, enough energy for artificial light to grow plants could not be
A. widespread B. cultivated

C. generated D. accelerated

. 10 -



Part IV Cloze

Directions: There are 20 blanks in the following passage. For each blank there are four
choices marked A, B, C, D on the right side of the paper. You should choose the ONE

that best fits into the passage. Then mark the corresponding letter on the Answer Sheet

with a single line through the centre.

As energy costs continue to climb,
everyone is looking for suggestions that will

save watts and BTU'’s. 71 beware!

Some of the measures do not deliver the

savings they 72  while others can cause

damage to the home or 73  health and

safety problems,

Turning down the hot water heater will
save energy, but there are 74 . If you
have a dishwasher, solid wastes will

probably not be completely 75 . That is

because dishes will not be 76  cleaned.
In a clothes washer, the water will not be
hot enough for 77 , athletic clothes,

and so on.

Turning the refrigerator. - 78 + .a::

warmer temperature will save only pennies a
day and may 79 food spoilage. Keep
the food section below 40 F and the freezer

80 zero, Coal-burning and wood-

burning stoves that are not 81 properly
can actually increase your heat loss as well

as create 82 fire disasters, stoves

should also have fireproofing on all 83
In addition, the temperature in winter
were too low, some old people will be weak

rather 84 health, thus causing

circulating problems. Some children may be

71.

72.

73.

74.

75.

76.

77.

. 18,

79.

80.

81.

82.

83.

84,

o

OB OE 0

CPOPOFPOFPOFPOEOROR0 R0

. While

But

. profit

provide

. favour

encourage

problems
drawbacks
damaged
washed
simply
regularly
work
worked

to

down

risk

take a risk of
to

from
developed
equipped
serious
separate
occasions

sides

with

in

OTFER O E DWW

o

PRORPUOWOTODROEORO®OEOE

Or
Therefore
protect
promise
create

maintain ,

difficulties

" $hortcoming

removed
cleaned
properly
evenly
working
works
down to
up to
risk of
risking
near
around
designed
installed
severe
secure
ways

aspects

of

on
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susceptible to a possibly 85 drop in
body temperature. An automatic timer that
lowers and 86 the furnace thermostat

can 87 heating. But if someone is

uaually at home to 88  the thermostat

manually, youcan 89  the timer cost

(about $175). If you do one, it 90
have a UL label. Some unapproved models

have caused fire.

Part Y Writing

85.

86,

87.

88.

89.

90.

>

CFPOPOPOPO0RO

essential
fatal
raises

arises

. shorten

decrease
adjust
suit
save
reduce
will

should

PROPFPUOFDODIU®O®

deadly
killing
rises
increases
reduce
minimize
adapt

fit

cut
shrink
shall

would

Directions: For this part, you are allowed 30 minutes to write a composition on the topic:

The Development of Internet. Your composition should be based on the outline given in

English and it should be no less than 120 words. Remember to write your composition on

the Composition Sheet.

Outline;
1. popularity of Internet
2. problems of Internet

3. prospect of Internet

The Development of Internet

. 12 .



